



Available online at www.qu.edu.iq/journalcm

JOURNAL OF AL-QADISIYAH FOR COMPUTER SCIENCE AND MATHEMATICS

ISSN:2521-3504(online) ISSN:2074-0204(print)



Theorems of Strong Differential Sandwich Results for Analytic Functions Associated with Wanas Fractional Integral Operator

Samer Chyad Khachi ^a and Abbas Kareem Wanas ^b

^a Department of Mathematics, College of Science, University of Al-Qadisiyah, Iraq. Email: samerchaed@gmail.com

^b Department of Mathematics, College of Science, University of Al-Qadisiyah, Iraq. Email: abbas.kareem.w@qu.edu.iq

ARTICLE INFO

Article history:

Received: 20 /10/2023

Revised form: 20 /12/2023

Accepted : 23 /12/2023

Available online: 30 /12/2023

Keywords:

Analytic function, Strong Differential Subordination, Strong Differential Superordination, Fractional integral, Wanas operator.

ABSTRACT

The objective of this research is to produce robust differential subordination and differential superordination results using the fractional integral of the Wanas differential operator. These results apply to Analytic functions defined on $U \times \bar{U}$, with Coefficient functions that are holomorphic in U . Furthermore, for each instance of strong differential subordination and strong differential superordination, we provide the most superior dominant and the most subordinate subordinant. These findings are used to achieve strong sandwich results.

[https:// 10.29304/jqcm.2023.15.41360](https://10.29304/jqcm.2023.15.41360)

1. Introduction

The Concept of Strong Differential Subordination was first proposed in Antonino and Romaguera's study [6], where they examined the Briot-Bouquet strong differential subordination. This notion was suggested as an expansion of the conventional differential subordination, as stated by Miller and Mocanu [17,19]. In 2009, Oros and Oros [23] expanded upon the theory of differential subordination [18] by developing the theory of strong differential subordination. Oros [22] expanded upon the dual concept of differential subordination and differential superordination [20] by introducing the notion of strong differential superordination. The theories of strong differential subordination and superordination underwent significant advancement. The optimal dominant for a strong differential subordination, as well as its counterpart, the optimal subordinant for a powerful differential superordination, were introduced in [21]. Additionally, the initial instances of strong differential subordinations and superordinations of analytic functions were shown in [11]. The text mentions several well-known operators that exhibit strong differential subordination and superordination,

*Corresponding author *Samer Chyad Khachi*

Email addresses: samerchaed@gmail.com

Communicated by 'sub etitor'

including the Liu-Srivastava operator [10], Salagean differential operator [31], Ruscheweyh derivative [25], multiplier transformation [14,30], general differential operators [4,24], and various other operators [1,2,27,33].

We intend to investigate the fractional integral of the Wanas operator in relation to differential strong subordinations and strong superordinations, building on the findings of [36], which investigated this topic using differential subordination theory, We used the theories of strong differential subordination and strong differential superordination in this study. In addition, we extended the Wanas operator to include the $U \times \bar{U}$ family of analytic functions. Furthermore, we investigated the previously unexplored application of fractional integral to this extended operator., which has not been previously examined.

Taking into account $U = \{z \in \mathbb{C} : |z| < 1\}$ and with its closure $\bar{U} = \{z \in \mathbb{C} : |z| \leq 1\}$ Let $\mathcal{H}(U \times \bar{U})$ represents the family of analytic functions in $U \times \bar{U}$. For n a positive integer and $a \in \mathbb{C}$, let $\mathcal{H}^*[a, n, \zeta] = \{f \in \mathcal{H}(U \times \bar{U}) : f(z, \zeta) = a + a_n(\zeta)z^n + a_{n+1}(\zeta)z^{n+1} + \dots, z \in U, \zeta \in \bar{U}\}$, where $a_k(\zeta)$ are holomorphic functions in \bar{U} for $k \geq n$.

Let $\mathcal{A}_{n, \zeta}^* = \{f \in \mathcal{H}(U \times \bar{U}) : f(z, \zeta) = z + a_{n+1}(\zeta)z^{n+1} + \dots, z \in U, \zeta \in \bar{U}\}$, with $\mathcal{A}_{1, \zeta}^* = \mathcal{A}_{\zeta}^*$, where $a_k(\zeta)$ are holomorphic functions in \bar{U} for $k \geq n + 1$.

The concept of strong differential subordination is precisely defined as follows:

Definition 1.1 [23]. Let $f(z, \zeta), g(z, \zeta)$ Analytic in $U \times \bar{U}$. The function $f(z, \zeta)$ is purported to be strongly differential subordinate to $g(z, \zeta)$, written $f(z, \zeta) \ll g(z, \zeta), z \in U, \zeta \in \bar{U}$, if there exists an analytic function w in U with $w(0) = 0$ and $|w(z)| < 1, z \in U$ such that $f(z, \zeta) = g(w(z), \zeta)$ for all $\zeta \in \bar{U}$.

Remark 1.1 [23].

(i) Since $f(z, \zeta)$ is Analytic in $U \times \bar{U}$, for all $\zeta \in \bar{U}$ and univalent in U , for all $\zeta \in \bar{U}$, Definition 1.1 is equivalent to $f(0, \zeta) = g(0, \zeta)$ for all $\zeta \in \bar{U}$ and $f(U \times \bar{U}) \subset g(U \times \bar{U})$.

(ii) If $f(z, \zeta) = f(z)$ and $g(z, \zeta) = g(z)$, the strong differential subordination reduce to the classical differential subordination.

In order to examine the concept of strong differential subordination, it is necessary to Utilize the following lemma..

Lemma 1.1 [16]. If the holomorphic function

$$p(z, \zeta) = q(0, \zeta) + p_n(\zeta)t^n + p_{n+1}(\zeta)t^{n+1} + \dots,$$

in $U \times \bar{U}$ Implementing the strong differential subordination

$$p(z, \zeta) + \eta z p'_z(z, \zeta) \ll h(z, \zeta), \quad (z \in U, \zeta \in \bar{U}),$$

where $q(z, \zeta)$ is a convex function and

$$h(z, \zeta) = q(z, \zeta) + \eta z q'_z(z, \zeta),$$

for n a Whole number greater than zero and $\eta > 0$, after that, we get the sharp object. strong differential subordination

$$p(z, \zeta) \ll q(z, \zeta).$$

The concept of strong differential superordination is precisely defined in the following manner:

Definition 1.2 [22]. Let $f(z, \zeta), g(z, \zeta)$ analytic in $U \times \bar{U}$. The function $g(z, \zeta)$ is said to be strongly differential superordination to $f(z, \zeta)$, written $g(z, \zeta) \ll f(z, \zeta), z \in U, \zeta \in \bar{U}$, if there exists an analytic function w in U with $w(0) = 0$ and $|w(z)| < 1, z \in U$ such that $g(z, \zeta) = f(w(z), \zeta)$ for all $\zeta \in \bar{U}$.

Remark 1.1 [22].

(i) Since $f(z, \varsigma)$ is analytic in $U \times \bar{U}$, for all $\varsigma \in \bar{U}$ and univalent in U , for all $\varsigma \in \bar{U}$, Definition 1.1 is equivalent to $g(0, \varsigma) = f(0, \varsigma)$ for all $\varsigma \in \bar{U}$ and $g(U \times \bar{U}) \subset f(U \times \bar{U})$.

(ii) If $g(z, \varsigma) = g(z)$ and $f(z, \varsigma) = f(z)$, the strong differential superordination reduce to the classical differential superordination.

Definition 1.3 [13]. We are denote by Q_ς the set of functions that are analytic and injective on $\bar{U} \times \bar{U} \setminus E(f, \varsigma)$, where

$$E(f, \varsigma) = \left\{ \xi \in \partial U : \lim_{z \rightarrow \xi} f(z, \varsigma) = \infty \right\},$$

and $f'_z(\xi, \varsigma) \neq 0$ for $\xi \in \partial U \times \bar{U} \setminus E_\varsigma f, \varsigma$. The subclass of Q_ς with $f(0, \varsigma) = a$ is denoted by $Q_\varsigma(a)$.

To explore strong differential superordination, the following lemma is needed.

Lemma 1.2 [15]. If the function $p \in \mathcal{H}^*[a, n, \varsigma] \cap Q_\varsigma$ satisfying the strong differential superordination

$$q(z, \varsigma) + \frac{1}{\eta} z q'_z(z, \varsigma) \prec\prec p(z, \varsigma) + \frac{1}{\eta} z p'_z(z, \varsigma), \quad (z \in U, \varsigma \in \bar{U}),$$

and $p(z, \varsigma) + \frac{1}{\eta} z p'_z(z, \varsigma)$ is univalent in $U \times \bar{U}$, $q(z, \varsigma)$ is a convex function and

$$h(z, \varsigma) = q(z, \varsigma) + \frac{1}{\eta} z q'_z(z, \varsigma)$$

for $\eta \in \mathbb{C}^*$ with $Re\varsigma\eta \geq 0$, Subsequently, that we acquire the strong differential superordination

$$q(z, \varsigma) \prec\prec p(z, \varsigma), \quad (z \in U, \varsigma \in \bar{U})$$

and with the convex function $q(z, \varsigma) = \frac{\eta}{n z^n} \int_0^z h(x, \varsigma) x^{\frac{\eta}{n}-1} dx$ $z \in U, \varsigma \in \bar{U}$ is the best subordinant.

Definition 1.4 [35]. For $f \in \mathcal{A}$. The Wanas differential operator is defined by

$$W_{\alpha, \beta}^{k, \eta} f(z, \varsigma) = z + \sum_{n=2}^{\infty} \left[\sum_{m=1}^k \binom{k}{m} (-1)^{m+1} \left(\frac{\alpha^m + n\beta^m}{\alpha^m + \beta^m} \right) \right]^\eta a_n z^n, \quad (1.1)$$

where $\alpha \in \mathbb{R}, \beta \geq 0$ with $\alpha + \beta > 0, k \in \mathbb{N}, \eta \in \mathbb{N}_0 = \mathbb{N} \cup \{0\}$.

Definition 1.5 [9]. The proportional integral of order where $\lambda (\lambda > 0)$ is defined for

the function

$$D_z^{-\lambda} f(z, \varsigma) = \frac{1}{\Gamma(\lambda)} \int_0^z \frac{f(t)}{(z-t)^{\lambda-1}} dt,$$

Let f be an analytic function in an area of the z -plane that is simply-connected and contains the origin. The multiplicity of $(z-t)^{\lambda-1}$ is removed by requiring $\log(z-t)$ to be real, at what for $(z-t) > 0$.

From Definition 1.3 also Definition 1.4, we conclude that

$$D_z^{-\lambda} W_{\alpha, \beta}^{k, \eta} f(z, \varsigma) = \frac{1}{\Gamma(2+\lambda)} z^{1+\lambda} + \sum_{n=2}^{\infty} \frac{\Gamma(n+1)}{\Gamma(n+1+\lambda)} \left[\sum_{m=1}^k \binom{k}{m} (-1)^{m+1} \left(\frac{\alpha^m + n\beta^m}{\alpha^m + \beta^m} \right) \right]^\eta a_n(\varsigma) z^{n+\lambda}.$$

Form [36] we need this result

$$z \left(D_z^{-\lambda} W_{\alpha, \beta}^{k, \eta} f(z, \varsigma) \right)'_z = \left[1 + \sum_{m=1}^k \binom{k}{m} (-1)^{m+1} \left(\frac{\alpha}{\beta} \right)^m \right] D_z^{-\lambda} W_{\alpha, \beta}^{k, \eta+1} f(z, \varsigma) + \left[\lambda - \sum_{m=1}^k \binom{k}{m} (-1)^{m+1} \left(\frac{\alpha}{\beta} \right)^m \right] D_z^{-\lambda} W_{\alpha, \beta}^{k, \eta} f(z, \varsigma). \quad (1.2)$$

This operator has special cases in [3,4,7,8,12,26,28,29,32]. For more details see [34].

2-Main Results

Theorem 2.1. Suppose that $q(z, \varsigma)$ be convex function with the property $q(0, \varsigma) = 0$, we take the function $h(z, \varsigma) = q(z, \varsigma) + \lambda z q'_z(z, \varsigma)$, $z \in U, \varsigma \in \bar{U}$, with λ a positive integer. If the strong differential subordination

$$\left(D_z^{-\lambda} W_{\alpha, \beta}^{k, \eta} f(z, \varsigma) \right)'_z \ll h(z, \varsigma) \quad (2.1)$$

is content when $f \in \mathcal{A}_\zeta^*$, Subsequently, we gain the ensuing distinct strong differential subordination:

$$\frac{D_z^{-\lambda} W_{\alpha, \beta}^{k, \eta} f(z, \varsigma)}{z} \ll q(z, \varsigma).$$

Proof. Let

$$p(z, \varsigma) = \frac{D_z^{-\lambda} W_{\alpha, \beta}^{k, \eta} f(z, \varsigma)}{z}, \quad z \in U, \varsigma \in \bar{U}, \quad (2.2)$$

Then $p \in \mathcal{H}^*[0, \lambda, \varsigma]$.

We have

$$D_z^{-\lambda} W_{\alpha, \beta}^{k, \eta} f(z, \varsigma) = zp(z, \varsigma).$$

Taking the derivative of the above equation with respect to z , we have

$$\left(D_z^{-\lambda} W_{\alpha, \beta}^{k, \eta} f(z, \varsigma) \right)'_z = p(z, \varsigma) + zp'_z(z, \varsigma).$$

Then, strong subordination (2.1) is in the following format:

$$p(z, \varsigma) + zp'_z(z, \varsigma) \ll h(z, \varsigma) = q(z, \varsigma) + \lambda z q'_z(z, \varsigma),$$

and, applying Lemma 1.1, we get $p(z, \varsigma) \ll q(z, \varsigma)$. By (2.2), We are acquire

$$\frac{D_z^{-\lambda} W_{\alpha, \beta}^{k, \eta} f(z, \varsigma)}{z} \ll q(z, \varsigma).$$

Corollary 2.1. Applying the an convexity function $h(z, \varsigma) = \frac{\varsigma+2(\delta-\varsigma)z}{1+z}$, with $0 \leq \delta < 1$ satisfying the strong subordination (2.1) for $f \in \mathcal{A}_\zeta^*$, then we get the strong subordination

$$\frac{D_z^{-\lambda} W_{\alpha, \beta}^{k, \eta} f(z, \varsigma)}{z} \ll q(z, \varsigma),$$

and the function that is convex outward $q(z, \varsigma) = 2(\delta - \varsigma) + 2(\varsigma - \delta) \frac{Ln(1+z)}{z}$, $z \in U, \varsigma \in \bar{U}$ is the most dominant and notable.

Proof. Reiterating the procedures employed in the demonstration of Theorem 2.1, taking

$$p(z, \varsigma) = \frac{D_z^{-\lambda} W_{\alpha, \beta}^{k, \eta} f(z, \varsigma)}{z},$$

the strong subordination (2.1) adopts the shape

$$p(z, \varsigma) + zp'_z(z, \varsigma) \ll h(z, \varsigma) = \frac{\varsigma + 2(\delta - \varsigma)z}{1 + z},$$

for which, applying Lemma 1.2, we get $p(z, \varsigma) \ll q(z, \varsigma)$, and thus

$$\frac{D_z^{-\lambda} W_{\alpha, \beta}^{k, \eta} f(z, \varsigma)}{z} \ll q(z, \varsigma) = 2(\delta - \varsigma) + 2(\varsigma - \delta) \frac{Ln(1 + z)}{z}, \quad z \in U, \varsigma \in \bar{U}.$$

Theorem 2.2. Let $q(z, \varsigma)$ Let f be a convex its function. $q(0, \varsigma) = 0$, and the a function

$$h(z, \varsigma) = q(z, \varsigma) + \frac{1}{\mu} zq'_z(z, \varsigma), \text{ with } \mu \text{ a Whole number greater than zero, } z \in U, \varsigma \in \bar{U}.$$

If the strong subordination is accomplished

$$\left(\frac{D_z^{-\lambda} W_{\alpha, \beta}^{k, \eta} f(z, \varsigma)}{z} \right)^{\mu-1} \left(D_z^{-\lambda} W_{\alpha, \beta}^{k, \eta} f \varsigma \right)'_z \ll h(z, \varsigma), \tag{2.3}$$

for $f \in \mathcal{A}^*_\varsigma$, Next, we have the following distinct or clearly defined. strong subordination:

$$\left(\frac{D_z^{-\lambda} W_{\alpha, \beta}^{k, \eta} f(z, \varsigma)}{z} \right)^\mu \ll q(z, \varsigma).$$

Proof. Define the function p by

$$p(z, \varsigma) = \left(\frac{D_z^{-\lambda} W_{\alpha, \beta}^{k, \eta} f(z, \varsigma)}{z} \right)^\mu, \quad z \in U, \varsigma \in \bar{U}. \tag{2.4}$$

It is clear that $p \in \mathcal{H}^*[0, \lambda\mu, \varsigma]$. By applying differentiation with respect to z , we have

$$\begin{aligned} zp'_z(z, \varsigma) &= \mu \left(\frac{D_z^{-\lambda} W_{\alpha, \beta}^{k, \eta} f(z, \varsigma)}{z} \right)^{\mu-1} \left(D_z^{-\lambda} W_{\alpha, \beta}^{k, \eta} f(z, \varsigma) \right)'_z - \mu \left(\frac{D_z^{-\lambda} W_{\alpha, \beta}^{k, \eta} f(z, \varsigma)}{z} \right)^\mu \\ &= \mu \left(\frac{D_z^{-\lambda} W_{\alpha, \beta}^{k, \eta} f(z, \varsigma)}{z} \right)^{\mu-1} \left(D_z^{-\lambda} W_{\alpha, \beta}^{k, \eta} f(z, \varsigma) \right)'_z - \mu p(z, \varsigma). \end{aligned}$$

Therefore

$$p(z, \varsigma) + \frac{1}{\mu} zp'_z(z, \varsigma) = \left(\frac{D_z^{-\lambda} W_{\alpha, \beta}^{k, \eta} f(z, \varsigma)}{z} \right)^{\mu-1} \left(D_z^{-\lambda} W_{\alpha, \beta}^{k, \eta} f(z, \varsigma) \right)'_z.$$

Under such conditions, strong subordination(2.3) assumes the form of

$$p(z, \varsigma) + \frac{1}{\mu} zp'_z(z, \varsigma) \ll h(z, \varsigma) = q(z, \varsigma) + \frac{1}{\mu} zq'_z(z, \varsigma),$$

Applying the lemma 1.1, we are. conclude that

$$p(z, \varsigma) \ll q(z, \varsigma).$$

It follows from (2.4) that

$$\left(\frac{D_z^{-\lambda} W_{\alpha,\beta}^{k,\eta} f(z, \varsigma)}{z}\right)^\mu \ll q(z, \varsigma).$$

Theorem 2.3. Let $q(z, \varsigma)$ be an convex function with $q(0, \varsigma) = \frac{1}{1+\lambda}$, let the function $h(z, \varsigma) = q(z, \varsigma) + zq'_z(z, \varsigma)$, $z \in U, \varsigma \in \bar{U}$. If the strong subordination

$$\begin{aligned} & \frac{\left(1 + \sum_{m=1}^k \binom{k}{m} (-1)^{m+1} \left(\frac{\alpha}{\beta}\right)^m\right)^2 \left(D_z^{-\lambda} W_{\alpha,\beta}^{k,\eta} f(z, \varsigma)\right)^2 - \left(1 + \sum_{m=1}^k \binom{k}{m} (-1)^{m+1} \left(\frac{\alpha}{\beta}\right)^m\right)^2 D_z^{-\lambda} W_{\alpha,\beta}^{k,\eta} f(z, \varsigma) \cdot D_z^{-\lambda} W_{\alpha,\beta}^{k,\eta+2} f(z, \varsigma)}{\left(\left(1 + \sum_{m=1}^k \binom{k}{m} (-1)^{m+1} \left(\frac{\alpha}{\beta}\right)^m\right) D_z^{-\lambda} W_{\alpha,\beta}^{k,\eta+1} f(z, \varsigma) + \left(\lambda - \sum_{m=1}^k \binom{k}{m} (-1)^{m+1} \left(\frac{\alpha}{\beta}\right)^m\right) D_z^{-\lambda} W_{\alpha,\beta}^{k,\eta} f(z, \varsigma)\right)^2} \\ & \frac{\left(1 + \sum_{m=1}^k \binom{k}{m} (-1)^{m+1} \left(\frac{\alpha}{\beta}\right)^m\right) D_z^{-\lambda} W_{\alpha,\beta}^{k,\eta} f(z, \varsigma) \cdot D_z^{-\lambda} W_{\alpha,\beta}^{k,\eta+1} f(z, \varsigma) - \left(\lambda - \sum_{m=1}^k \binom{k}{m} (-1)^{m+1} \left(\frac{\alpha}{\beta}\right)^m\right) \left(D_z^{-\lambda} W_{\alpha,\beta}^{k,\eta} f(z, \varsigma)\right)^2}{\left(\left(1 + \sum_{m=1}^k \binom{k}{m} (-1)^{m+1} \left(\frac{\alpha}{\beta}\right)^m\right) D_z^{-\lambda} W_{\alpha,\beta}^{k,\eta+1} f(z, \varsigma) + \left(\lambda - \sum_{m=1}^k \binom{k}{m} (-1)^{m+1} \left(\frac{\alpha}{\beta}\right)^m\right) D_z^{-\lambda} W_{\alpha,\beta}^{k,\eta} f(z, \varsigma)\right)^2} \\ & \ll h(z, \varsigma) \end{aligned} \tag{2.5}$$

Applies to $f \in \mathcal{A}_\varsigma^*$, Then we possess the keen or acute. strong subordination

$$\frac{D_z^{-\lambda} W_{\alpha,\beta}^{k,\eta} f(z, \varsigma)}{z \left(D_z^{-\lambda} W_{\alpha,\beta}^{k,\eta} f(z, \varsigma)\right)'_z} \ll q(z, \varsigma).$$

Proof. Considering the function

$$p(z, \varsigma) = \frac{D_z^{-\lambda} W_{\alpha,\beta}^{k,\eta} f(z, \varsigma)}{z \left(D_z^{-\lambda} W_{\alpha,\beta}^{k,\eta} f(z, \varsigma)\right)'_z}. \tag{2.6}$$

Differentiating (2.6) with respect to z , yields

$$1 - \frac{D_z^{-\lambda} W_{\alpha,\beta}^{k,\eta} f(z, \varsigma) \cdot \left(D_z^{-\lambda} W_{\alpha,\beta}^{k,\eta} f(z, \varsigma)\right)''_z}{z \left(D_z^{-\lambda} W_{\alpha,\beta}^{k,\eta} f(z, \varsigma)\right)'_z} = p(z, \varsigma) + zp'_z(z, \varsigma).$$

Following a brief calculation and utilizing the given relationship (1.2), noticed that

$$\begin{aligned}
 & 1 - \frac{D_z^{-\lambda} W_{\alpha, \beta}^{k, \eta} f(z, \varsigma) \cdot \left(D_z^{-\lambda} W_{\alpha, \beta}^{k, \eta} f(z, \varsigma) \right)''}{z \left(D_z^{-\lambda} W_{\alpha, \beta}^{k, \eta} f(z, \varsigma) \right)'_z} \\
 &= \frac{\left(1 + \sum_{m=1}^k \binom{k}{m} (-1)^{m+1} \left(\frac{\alpha}{\beta} \right)^m \right)^2 \left(D_z^{-\lambda} W_{\alpha, \beta}^{k, \eta} f(z, \varsigma) \right)^2 - \left(1 + \sum_{m=1}^k \binom{k}{m} (-1)^{m+1} \left(\frac{\alpha}{\beta} \right)^m \right)^2 D_z^{-\lambda} W_{\alpha, \beta}^{k, \eta} f(z, \varsigma) \cdot D_z^{-\lambda} W_{\alpha, \beta}^{k, \eta+2} f(z, \varsigma)}{\left(\left(1 + \sum_{m=1}^k \binom{k}{m} (-1)^{m+1} \left(\frac{\alpha}{\beta} \right)^m \right) D_z^{-\lambda} W_{\alpha, \beta}^{k, \eta+1} f(z, \varsigma) + \left(\lambda - \sum_{m=1}^k \binom{k}{m} (-1)^{m+1} \left(\frac{\alpha}{\beta} \right)^m \right) D_z^{-\lambda} W_{\alpha, \beta}^{k, \eta} f(z, \varsigma) \right)^2} \\
 &= \frac{\left(1 + \sum_{m=1}^k \binom{k}{m} (-1)^{m+1} \left(\frac{\alpha}{\beta} \right)^m \right) D_z^{-\lambda} W_{\alpha, \beta}^{k, \eta} f(z, \varsigma) \cdot D_z^{-\lambda} W_{\alpha, \beta}^{k, \eta+1} f(z, \varsigma) - \left(\lambda - \sum_{m=1}^k \binom{k}{m} (-1)^{m+1} \left(\frac{\alpha}{\beta} \right)^m \right) \left(D_z^{-\lambda} W_{\alpha, \beta}^{k, \eta} f(z, \varsigma) \right)^2}{\left(\left(1 + \sum_{m=1}^k \binom{k}{m} (-1)^{m+1} \left(\frac{\alpha}{\beta} \right)^m \right) D_z^{-\lambda} W_{\alpha, \beta}^{k, \eta+1} f(z, \varsigma) + \left(\lambda - \sum_{m=1}^k \binom{k}{m} (-1)^{m+1} \left(\frac{\alpha}{\beta} \right)^m \right) D_z^{-\lambda} W_{\alpha, \beta}^{k, \eta} f(z, \varsigma) \right)^2}.
 \end{aligned}$$

In these conditions, the strong subordination (2.5) transforms

$$p(z, \varsigma) + zp'_z(z, \varsigma) = h(z, \varsigma) = q(z, \varsigma) + zq'_z(z, \varsigma),$$

and applying Lemma 1.1 , we get the sharp strong subordination $p(z, \varsigma) \ll q(z, \varsigma)$. Using (2.6), to obtain

$$\frac{D_z^{-\lambda} W_{\alpha, \beta}^{k, \eta} f(z, \varsigma)}{z \left(D_z^{-\lambda} W_{\alpha, \beta}^{k, \eta} f(z, \varsigma) \right)'_{zz}} \ll q(z, \varsigma).$$

Theorem 2.4. Allow $q(z, \varsigma)$ be an convex function with $q(0, \varsigma) = 0$, let the function $h(z, \varsigma) = q(z, \varsigma) + \lambda zq'_z(z, \varsigma)$, where λ is a value that is an integer greater than zero, $z \in U, \varsigma \in \bar{U}$. If the strong sub ordination

$$\begin{aligned}
 & \left(1 + \sum_{m=1}^k \binom{k}{m} (-1)^{m+1} \left(\frac{\alpha}{\beta} \right)^m \right)^2 \frac{D_z^{-\lambda} W_{\alpha, \beta}^{k, \eta+2} f(z, \varsigma)}{z} \\
 & + 2 \left(\lambda - \sum_{m=1}^k \binom{k}{m} (-1)^{m+1} \left(\frac{\alpha}{\beta} \right)^m \right) \left(1 + \sum_{m=1}^k \binom{k}{m} (-1)^{m+1} \left(\frac{\alpha}{\beta} \right)^m \right) \frac{D_z^{-\lambda} W_{\alpha, \beta}^{k, \eta+1} f(z, \varsigma)}{z} \\
 & + \left(\lambda - \sum_{m=1}^k \binom{k}{m} (-1)^{m+1} \left(\frac{\alpha}{\beta} \right)^m \right)^2 \frac{D_z^{-\lambda} W_{\alpha, \beta}^{k, \eta} f(z, \varsigma)}{z} \ll h(z, \varsigma) \tag{2.7}
 \end{aligned}$$

is content with $f \in \mathcal{A}^*_\zeta$, Next, we acquire the sharp object. strong sub ordination

$$\left(D_z^{-\lambda} W_{\alpha, \beta}^{k, \eta} f(z, \varsigma) \right)'_z \ll q(z, \varsigma).$$

Proof. We define the function $p(z, \varsigma)$ by

$$p(z, \varsigma) = \left(D_z^{-\lambda} W_{\alpha, \beta}^{k, \eta} f(z, \varsigma) \right)'_z. \tag{2.8}$$

It is clear that $p(z, \varsigma) \in \mathcal{H}^*[0, \lambda, \varsigma]$. Using the relation (1.2), we conclude that

$$zp(z, \varsigma) = \left[1 + \sum_{m=1}^k \binom{k}{m} (-1)^{m+1} \left(\frac{\alpha}{\beta} \right)^m \right] D_z^{-\lambda} W_{\alpha, \beta}^{k, \eta+1} f(z, \varsigma) + \left[\lambda - \sum_{m=1}^k \binom{k}{m} (-1)^{m+1} \left(\frac{\alpha}{\beta} \right)^m \right] D_z^{-\lambda} W_{\alpha, \beta}^{k, \eta} f(z, \varsigma).$$

Differentiating the last equation with respect to z , yields

$$\begin{aligned} p(z, \varsigma) + zp'_z(z, \varsigma) &= \left(1 + \sum_{m=1}^k \binom{k}{m} (-1)^{m+1} \left(\frac{\alpha}{\beta}\right)^m\right)^2 \frac{D_z^{-\lambda} W_{\alpha, \beta}^{k, \eta+2} f(z, \varsigma)}{z} \\ &+ 2 \left(\lambda - \sum_{m=1}^k \binom{k}{m} (-1)^{m+1} \left(\frac{\alpha}{\beta}\right)^m\right) \left(1 + \sum_{m=1}^k \binom{k}{m} (-1)^{m+1} \left(\frac{\alpha}{\beta}\right)^m\right) \frac{D_z^{-\lambda} W_{\alpha, \beta}^{k, \eta+1} f(z, \varsigma)}{z} \\ &+ \left(\lambda - \sum_{m=1}^k \binom{k}{m} (-1)^{m+1} \left(\frac{\alpha}{\beta}\right)^m\right)^2 \frac{D_z^{-\lambda} W_{\alpha, \beta}^{k, \eta} f(z, \varsigma)}{z}. \end{aligned}$$

Under such conditions, the strong sub ordination (2.7) assumes the shape

$$p(z, \varsigma) + zp'_z(z, \varsigma) \ll h(z, \varsigma) = q(z, \varsigma) + \lambda zq'_z(z, \varsigma),$$

and making use of Lemma 1.1, we are get the sharp strong sub ordination $p(z, \varsigma) \ll h(z, \varsigma)$. It follows from(2.8) that

$$\left(D_z^{-\lambda} W_{\alpha, \beta}^{k, \eta} f(z, \varsigma)\right)'_z \ll q(z, \varsigma).$$

Theorem 2.5. Let $q(z, \varsigma)$ be an convex function with $q(0, \varsigma) = 0$, let the function $h(z, \varsigma) = q(z, \varsigma) + \lambda zq'_z(z, \varsigma)$, for λ a positive integer $z \in U, \varsigma \in \bar{U}$. Assume that

$$\frac{D_z^{-\lambda} W_{\alpha, \beta}^{k, \eta} f(z, \varsigma)}{z} \in Q_\varsigma \cap \mathcal{H}^*[0, \lambda, \varsigma]$$

and $\left(D_z^{-\lambda} W_{\alpha, \beta}^{k, \eta} f(z, \varsigma)\right)'_z$ is univalent and the strong differential superordination is satisfied

$$h(z, \varsigma) \ll \left(D_z^{-\lambda} W_{\alpha, \beta}^{k, \eta} f(z, \varsigma)\right)'_z \tag{2.9}$$

for $f \in \mathcal{A}^*$, then we get the strong superordination

$$q(z, \varsigma) \ll \frac{D_z^{-\lambda} W_{\alpha, \beta}^{k, \eta} f(z, \varsigma)}{z},$$

and the an convex function $q(z, \varsigma) = \frac{1}{z} \int_0^z h(x, \varsigma) dx$ is the best dominant.

Proof. Let us define the function $p(z, \varsigma)$ be defined by (2.2). Then $p \in \mathcal{H}^*[0, \lambda, \varsigma]$. Differentiating relation $D_z^{-\lambda} W_{\alpha, \beta}^{k, \eta} f(z, \varsigma) = zp(z, \varsigma)$, with respect to z , we have

$$\left(D_z^{-\lambda} W_{\alpha, \beta}^{k, \eta} f(z, \varsigma)\right)'_z = p(z, \varsigma) + zp'_z(z, \varsigma),$$

The strong superordination (2.9)) uses the following type:

$$h(z, \varsigma) \ll q(z, \varsigma) + \gamma zq'_z(z, \varsigma) \ll p(z, \varsigma) + zp'_z(z, \varsigma) ,$$

and using Lemma 1.2, we acquire the strong superordination $q(z, \varsigma) \ll p(z, \varsigma)$. It follows from (2.2) that

$$q(z, \varsigma) = \frac{1}{z} \int_0^z h(x, \varsigma) dx \ll \frac{D_z^{-\lambda} W_{\alpha, \beta}^{k, \eta} f(z, \varsigma)}{z},$$

The function q is the most superior subordinate.

Corollary 2.2. Considering the convex function $h(z, \varsigma) = \frac{\varsigma+2(\delta-\varsigma)z}{1+z}$, with $0 \leq \delta < 1$ and $f \in \mathcal{A}_\varsigma^*$, we assume that

$$\frac{D_z^{-\lambda} w_{\alpha,\beta}^{k,\eta} f(z, \varsigma)}{z} \in Q_\varsigma \cap \mathcal{H}^*[0, \lambda, \varsigma]$$

and $\left(D_z^{-\lambda} w_{\alpha,\beta}^{k,\eta} f(z, \varsigma)\right)'_z$ is univalent and satisfies the strong superordination (2.9), Next, we acquire the strong next

$$q(z, \varsigma) \prec\prec \frac{D_z^{-\lambda} w_{\alpha,\beta}^{k,\eta} f(z, \varsigma)}{z}$$

and the convex function $q(z, \varsigma) = 2(\delta - \varsigma) + 2(\varsigma - \delta) \frac{Ln(1+z)}{z}$, $z \in U, \varsigma \in \bar{U}$ is the best subordinant.

Proof. Repeating the steps made in the proof of Theorem 2.5 considering

$p(z, \varsigma) = \frac{D_z^{-\lambda} w_{\alpha,\beta}^{k,\eta} f(z, \varsigma)}{z}$, and the strong superordination (2.9) takes the form

$$h_\varsigma(z, \varsigma) = \frac{\varsigma + 2(\delta - \varsigma)z}{1 + z} \prec\prec z p'_z(z, \varsigma) + p(z, \varsigma).$$

Using Lemma 1.2, it yields $q(z, \varsigma) \prec\prec p(z, \varsigma)$ and so

$$q(z, \varsigma) = \frac{1}{z} \int_0^z h(x, \varsigma) dx \prec\prec \frac{D_z^{-\lambda} w_{\alpha,\beta}^{k,\eta} f(z, \varsigma)}{z},$$

and with the best subordinant is the function

$$q(z, \varsigma) = \frac{1}{z} \int_0^z h(x, \varsigma) dx = 2(\delta - \varsigma) + 2(\varsigma - \delta) \frac{1}{z} Ln(z + 1), z \in U, \varsigma \in \bar{U}$$

Theorem 2.6. Let $q(z, \varsigma)$ be convex function with $q(0, \varsigma) = 0$, let the function $h(z, \varsigma) = q(z, \varsigma) + \frac{1}{\mu} z q'_z(z, \varsigma)$, with μ a positive integer, $z \in U, \varsigma \in \bar{U}$. Assume that for $f \in \mathcal{A}_\varsigma^*$,

$$\left(\frac{D_z^{-\lambda} w_{\alpha,\beta}^{k,\eta} f(z, \varsigma)}{z}\right)^\mu \in Q_\varsigma \cap \mathcal{H}^*[0, \lambda\mu, \varsigma],$$

and $\left(\frac{D_z^{-\lambda} w_{\alpha,\beta}^{k,\eta} f(z, \varsigma)}{z}\right)^{\mu-1} \left(D_z^{-\lambda} w_{\alpha,\beta}^{k,\eta} f(z, \varsigma)\right)'_z$ is univalent and with the strong superordination

$$h(z, \varsigma) \prec\prec \left(\frac{D_z^{-\lambda} w_{\alpha,\beta}^{k,\eta} f(z, \varsigma)}{z}\right)^{\mu-1} \left(D_z^{-\lambda} w_{\alpha,\beta}^{k,\eta} f(z, \varsigma)\right)'_z \tag{2.10}$$

is verified, then we are have the strong superordination

$$q(z, \varsigma) \prec\prec \left(\frac{D_z^{-\lambda} w_{\alpha,\beta}^{k,\eta} f(z, \varsigma)}{z}\right)^\mu,$$

and the convex function $q(z, \varsigma) = \frac{\mu}{z^\mu} \int_0^z h(x, \varsigma) x^{\mu-1} dx$ is the best subordinant.

Proof. Let the function $p(z, \varsigma)$ be defined by (2.4). Then $p \in \mathcal{H}^*[0, \lambda\mu, \varsigma]$.

By applying differentiation and with respect to z , we are have

$$\begin{aligned} zp'_z(z, \varsigma) &= \mu \left(\frac{D_z^{-\lambda} W_{\alpha, \beta}^{k, \eta} f(z, \varsigma)}{z} \right)^{\mu-1} \left(D_z^{-\lambda} W_{\alpha, \beta}^{k, \eta} f(z, \varsigma) \right)'_z - \mu \left(\frac{D_z^{-\lambda} W_{\alpha, \beta}^{k, \eta} f(z, \varsigma)}{z} \right)^{\mu} \\ &= \mu \left(\frac{D_z^{-\lambda} W_{\alpha, \beta}^{k, \eta} f(z, \varsigma)}{z} \right)^{\mu-1} \left(D_z^{-\lambda} W_{\alpha, \beta}^{k, \eta} f(z, \varsigma) \right)'_z - \mu p(z, \varsigma), \end{aligned}$$

Therefore

$$p(z, \varsigma) + \frac{1}{\mu} zp'_z(z, \varsigma) = \left(\frac{D_z^{-\lambda} W_{\alpha, \beta}^{k, \eta} f(z, \varsigma)}{z} \right)^{\mu-1} \left(D_z^{-\lambda} W_{\alpha, \beta}^{k, \eta} f(z, \varsigma) \right)'_z.$$

In these conditions, the strong superordination (2.10) An optimistic integer

$$h(z, \varsigma) = q(z, \varsigma) + \frac{1}{\mu} zp'_z(z, \varsigma) \ll p(z, \varsigma) + \frac{1}{\mu} zp'_z(z, \varsigma),$$

and by Lemma 1.2, we are get the strong superordination $q(z, \varsigma) \ll p(z, \varsigma)$. It follows from (2.4) that

$$q(z, \varsigma) \ll \left(\frac{D_z^{-\lambda} W_{\alpha, \beta}^{k, \eta} f(z, \varsigma)}{z} \right)^{\mu},$$

and the best subordinant is the function $q(z, \varsigma) = \frac{\mu}{z^{\mu}} \int_0^z h(x, \varsigma) x^{\mu-1} dx$.

Theorem 2.7. Let $q(x, \varsigma)$ be convex function with $q(0, \varsigma) = \frac{1}{1+\lambda}$, let the function $h(x, \varsigma) = q(z, \varsigma) + zp'_z(z, \varsigma)$, $f \in \mathcal{A}_{\varsigma}^*$ and

$$\frac{D_z^{-\lambda} W_{\alpha, \beta}^{k, \eta} f(z, \varsigma)}{z \left(D_z^{-\lambda} W_{\alpha, \beta}^{k, \eta} f(z, \varsigma) \right)'_z} \in Q_{\varsigma} \cap \mathcal{H}^* \left[\frac{1}{1+\lambda}, 1, \varsigma \right].$$

If

$$\begin{aligned} & \left(1 + \sum_{m=1}^k \binom{k}{m} (-1)^{m+1} \left(\frac{\alpha}{\beta} \right)^m \right)^2 \left(D_z^{-\lambda} W_{\alpha, \beta}^{k, \eta} f(z, \varsigma) \right)^2 \\ & - \left(1 + \sum_{m=1}^k \binom{k}{m} (-1)^{m+1} \left(\frac{\alpha}{\beta} \right)^m \right)^2 D_z^{-\lambda} W_{\alpha, \beta}^{k, \eta} f(z, \varsigma) \cdot D_z^{-\lambda} W_{\alpha, \beta}^{k, \eta+2} f(z, \varsigma) \\ & \frac{\left(\left(1 + \sum_{m=1}^k \binom{k}{m} (-1)^{m+1} \left(\frac{\alpha}{\beta} \right)^m \right) D_z^{-\lambda} W_{\alpha, \beta}^{k, \eta+1} f(z, \varsigma) + \left(\lambda - \sum_{m=1}^k \binom{k}{m} (-1)^{m+1} \left(\frac{\alpha}{\beta} \right)^m \right) D_z^{-\lambda} W_{\alpha, \beta}^{k, \eta} f(z, \varsigma) \right)^2}{\left(1 + \sum_{m=1}^k \binom{k}{m} (-1)^{m+1} \left(\frac{\alpha}{\beta} \right)^m \right) D_z^{-\lambda} W_{\alpha, \beta}^{k, \eta} f(z, \varsigma) \cdot D_z^{-\lambda} W_{\alpha, \beta}^{k, \eta+1} f(z, \varsigma)} \\ & - \left(\lambda - \sum_{m=1}^k \binom{k}{m} (-1)^{m+1} \left(\frac{\alpha}{\beta} \right)^m \right) \left(D_z^{-\lambda} W_{\alpha, \beta}^{k, \eta} f(z, \varsigma) \right)^2 \\ & \frac{\left(\left(1 + \sum_{m=1}^k \binom{k}{m} (-1)^{m+1} \left(\frac{\alpha}{\beta} \right)^m \right) D_z^{-\lambda} W_{\alpha, \beta}^{k, \eta+1} f(z, \varsigma) + \left(\lambda - \sum_{m=1}^k \binom{k}{m} (-1)^{m+1} \left(\frac{\alpha}{\beta} \right)^m \right) D_z^{-\lambda} W_{\alpha, \beta}^{k, \eta} f(z, \varsigma) \right)^2}{\left(1 + \sum_{m=1}^k \binom{k}{m} (-1)^{m+1} \left(\frac{\alpha}{\beta} \right)^m \right) D_z^{-\lambda} W_{\alpha, \beta}^{k, \eta} f(z, \varsigma) \cdot D_z^{-\lambda} W_{\alpha, \beta}^{k, \eta+1} f(z, \varsigma)} \end{aligned}$$

is univalent and verifies the strong differential superordination

$$h(z, \varsigma) \ll$$

$$\frac{\left(1 + \sum_{m=1}^k \binom{k}{m} (-1)^{m+1} \left(\frac{\alpha}{\beta}\right)^m\right)^2 \left(D_z^{-\lambda} W_{\alpha,\beta}^{k,\eta} f(z, \varsigma)\right)^2 - \left(1 + \sum_{m=1}^k \binom{k}{m} (-1)^{m+1} \left(\frac{\alpha}{\beta}\right)^m\right)^2 D_z^{-\lambda} W_{\alpha,\beta}^{k,\eta} f(z, \varsigma) \cdot D_z^{-\lambda} W_{\alpha,\beta}^{k,\eta+2} f(z, \varsigma)}{\left(\left(1 + \sum_{m=1}^k \binom{k}{m} (-1)^{m+1} \left(\frac{\alpha}{\beta}\right)^m\right) D_z^{-\lambda} W_{\alpha,\beta}^{k,\eta+1} f(z, \varsigma) + \left(\lambda - \sum_{m=1}^k \binom{k}{m} (-1)^{m+1} \left(\frac{\alpha}{\beta}\right)^m\right) D_z^{-\lambda} W_{\alpha,\beta}^{k,\eta} f(z, \varsigma)\right)^2} \\ \frac{\left(1 + \sum_{m=1}^k \binom{k}{m} (-1)^{m+1} \left(\frac{\alpha}{\beta}\right)^m\right) D_z^{-\lambda} W_{\alpha,\beta}^{k,\eta} f(z, \varsigma) \cdot D_z^{-\lambda} W_{\alpha,\beta}^{k,\eta+1} f(z, \varsigma) - \left(\lambda - \sum_{m=1}^k \binom{k}{m} (-1)^{m+1} \left(\frac{\alpha}{\beta}\right)^m\right) \left(D_z^{-\lambda} W_{\alpha,\beta}^{k,\eta} f(z, \varsigma)\right)^2}{\left(\left(1 + \sum_{m=1}^k \binom{k}{m} (-1)^{m+1} \left(\frac{\alpha}{\beta}\right)^m\right) D_z^{-\lambda} W_{\alpha,\beta}^{k,\eta+1} f(z, \varsigma) + \left(\lambda - \sum_{m=1}^k \binom{k}{m} (-1)^{m+1} \left(\frac{\alpha}{\beta}\right)^m\right) D_z^{-\lambda} W_{\alpha,\beta}^{k,\eta} f(z, \varsigma)\right)^2}, \quad (2.11)$$

then we acquire the strong differential superordination

$$q(z, \varsigma) \ll \frac{D_z^{-\lambda} W_{\alpha,\beta}^{k,\eta} f(z, \varsigma)}{z \left(D_z^{-\lambda} W_{\alpha,\beta}^{k,\eta} f(z, \varsigma)\right)'_z}$$

with and the best subordinant is the convex function

$$q(z, \varsigma) = \frac{1}{z} \int_0^z h(x, \varsigma) dx.$$

Proof. Differentiating the relation $p(z, \varsigma) = \frac{D_z^{-\lambda} W_{\alpha,\beta}^{k,\eta} f(z, \varsigma)}{z \left(D_z^{-\lambda} W_{\alpha,\beta}^{k,\eta} f(z, \varsigma)\right)'_z}$ with respect to z , yields

$$1 - \frac{D_z^{-\lambda} W_{\alpha,\beta}^{k,\eta} f(z, \varsigma) \cdot \left(D_z^{-\lambda} W_{\alpha,\beta}^{k,\eta} f(z, \varsigma)\right)''_z}{z \left(D_z^{-\lambda} W_{\alpha,\beta}^{k,\eta} f(z, \varsigma)\right)'_z} = p(z, \varsigma) + zp'_z(z, \varsigma)$$

Performing a brief calculation with and applying relation (1.2), we are get

$$1 - \frac{D_z^{-\lambda} W_{\alpha,\beta}^{k,\eta} f(z, \varsigma) \cdot \left(D_z^{-\lambda} W_{\alpha,\beta}^{k,\eta} f(z, \varsigma)\right)''_z}{z \left(D_z^{-\lambda} W_{\alpha,\beta}^{k,\eta} f(z, \varsigma)\right)'_z} \\ = \frac{\left(1 + \sum_{m=1}^k \binom{k}{m} (-1)^{m+1} \left(\frac{\alpha}{\beta}\right)^m\right)^2 \left(D_z^{-\lambda} W_{\alpha,\beta}^{k,\eta} f(z, \varsigma)\right)^2 - \left(1 + \sum_{m=1}^k \binom{k}{m} (-1)^{m+1} \left(\frac{\alpha}{\beta}\right)^m\right)^2 D_z^{-\lambda} W_{\alpha,\beta}^{k,\eta} f(z, \varsigma) \cdot D_z^{-\lambda} W_{\alpha,\beta}^{k,\eta+2} f(z, \varsigma)}{\left(\left(1 + \sum_{m=1}^k \binom{k}{m} (-1)^{m+1} \left(\frac{\alpha}{\beta}\right)^m\right) D_z^{-\lambda} W_{\alpha,\beta}^{k,\eta+1} f(z, \varsigma) + \left(\lambda - \sum_{m=1}^k \binom{k}{m} (-1)^{m+1} \left(\frac{\alpha}{\beta}\right)^m\right) D_z^{-\lambda} W_{\alpha,\beta}^{k,\eta} f(z, \varsigma)\right)^2} \\ \frac{\left(1 + \sum_{m=1}^k \binom{k}{m} (-1)^{m+1} \left(\frac{\alpha}{\beta}\right)^m\right) D_z^{-\lambda} W_{\alpha,\beta}^{k,\eta} f(z, \varsigma) \cdot D_z^{-\lambda} W_{\alpha,\beta}^{k,\eta+1} f(z, \varsigma) - \left(\lambda - \sum_{m=1}^k \binom{k}{m} (-1)^{m+1} \left(\frac{\alpha}{\beta}\right)^m\right) \left(D_z^{-\lambda} W_{\alpha,\beta}^{k,\eta} f(z, \varsigma)\right)^2}{\left(\left(1 + \sum_{m=1}^k \binom{k}{m} (-1)^{m+1} \left(\frac{\alpha}{\beta}\right)^m\right) D_z^{-\lambda} W_{\alpha,\beta}^{k,\eta+1} f(z, \varsigma) + \left(\lambda - \sum_{m=1}^k \binom{k}{m} (-1)^{m+1} \left(\frac{\alpha}{\beta}\right)^m\right) D_z^{-\lambda} W_{\alpha,\beta}^{k,\eta} f(z, \varsigma)\right)^2}.$$

Under these circumstances, the strong superordination (2.11) adopts the shape

$$h(z, \varsigma) = q(z, \varsigma) + zq'_z(z, \varsigma) \prec\prec p(z, \varsigma) + zp'_z(z, \varsigma),$$

and with applying Lemma 1.2, we are get the strong superordination $q(z, \varsigma) \prec\prec p(z, \varsigma)$. Using (2.6), we have

$$q(z, \varsigma) \prec\prec \frac{D_z^{-\lambda} W_{\alpha, \beta}^{k, \eta} f(z, \varsigma)}{z \left(D_z^{-\lambda} W_{\alpha, \beta}^{k, \eta} f(z, \varsigma) \right)'_z}.$$

And with the best subordinant represents the function

$$q(z, \varsigma) = \frac{1}{z} \int_0^z h(x, \varsigma) dx.$$

Theorem 2.8. Let $q(z, \varsigma)$ be convex function with $q(0, \varsigma) = 0$, let the function $h(z, \varsigma) = q(z, \varsigma) + \lambda zq'_z(z, \varsigma)$, with λ a positive integer, $z \in U, \varsigma \in \bar{U}, f \in \mathcal{A}_\varsigma^*$. Assume that

$$\left(D_z^{-\lambda} W_{\alpha, \beta}^{k, \eta} f(z, \varsigma) \right)'_z \in Q_\varsigma \cap \mathcal{H}^*[0, \lambda, \varsigma]$$

and

$$\begin{aligned} & \left(1 + \sum_{m=1}^k \binom{k}{m} (-1)^{m+1} \left(\frac{\alpha}{\beta} \right)^m \right)^2 \frac{D_z^{-\lambda} W_{\alpha, \beta}^{k, \eta+2} f(z, \varsigma)}{z} \\ & + 2 \left(\lambda - \sum_{m=1}^k \binom{k}{m} (-1)^{m+1} \left(\frac{\alpha}{\beta} \right)^m \right) \left(1 + \sum_{m=1}^k \binom{k}{m} (-1)^{m+1} \left(\frac{\alpha}{\beta} \right)^m \right) \frac{D_z^{-\lambda} W_{\alpha, \beta}^{k, \eta+1} f(z, \varsigma)}{z} \\ & + \left(\lambda - \sum_{m=1}^k \binom{k}{m} (-1)^{m+1} \left(\frac{\alpha}{\beta} \right)^m \right)^2 \frac{D_z^{-\lambda} W_{\alpha, \beta}^{k, \eta} f(z, \varsigma)}{z} \end{aligned}$$

is univalent and verifies the strong differential superordination

$$\begin{aligned} h(z, \varsigma) \prec\prec & \left(1 + \sum_{m=1}^k \binom{k}{m} (-1)^{m+1} \left(\frac{\alpha}{\beta} \right)^m \right)^2 \frac{D_z^{-\lambda} W_{\alpha, \beta}^{k, \eta+2} f(z, \varsigma)}{z} \\ & + 2 \left(\lambda - \sum_{m=1}^k \binom{k}{m} (-1)^{m+1} \left(\frac{\alpha}{\beta} \right)^m \right) \left(1 + \sum_{m=1}^k \binom{k}{m} (-1)^{m+1} \left(\frac{\alpha}{\beta} \right)^m \right) \frac{D_z^{-\lambda} W_{\alpha, \beta}^{k, \eta+1} f(z, \varsigma)}{z} \\ & + \left(\lambda - \sum_{m=1}^k \binom{k}{m} (-1)^{m+1} \left(\frac{\alpha}{\beta} \right)^m \right)^2 \frac{D_z^{-\lambda} W_{\alpha, \beta}^{k, \eta} f(z, \varsigma)}{z}, \end{aligned} \tag{2.12}$$

then we are having the sharp strong superordination

$$q\varsigma z, \varsigma) \prec\prec \left(D_z^{-\lambda} W_{\alpha, \beta}^{k, \eta} f(z, \varsigma) \right)'_z$$

And with the best subordinant is the convex function $q(z, \varsigma) = \frac{1}{z} \int_0^z h(x, \varsigma) dx$.

Proof. Let $p(z, \varsigma)$ be defined by (2.8). Then $p(z, \varsigma) \in \mathcal{H}^*[0, \lambda, \varsigma]$.

Utilizing a connection or association (1.2), we are have

$$zp(z, \varsigma) = \left[1 + \sum_{m=1}^k \binom{k}{m} (-1)^{m+1} \left(\frac{\alpha}{\beta} \right)^m \right] D_z^{-\lambda} W_{\alpha, \beta}^{k, \eta+1} f(z, \varsigma) + \left[\lambda - \sum_{m=1}^k \binom{k}{m} (-1)^{m+1} \left(\frac{\alpha}{\beta} \right)^m \right] D_z^{-\lambda} W_{\alpha, \beta}^{k, \eta} f(z, \varsigma)$$

and with differentiating it with respect to z , it yields

$$\begin{aligned}
 & p(z, \varsigma) + zp'_z(z, \varsigma) \\
 &= \left(1 + \sum_{m=1}^k \binom{k}{m} (-1)^{m+1} \left(\frac{\alpha}{\beta}\right)^m \right)^2 \frac{D_z^{-\lambda} w_{\alpha, \beta}^{k, \eta+2} f(z, \varsigma)}{z} \\
 &+ 2 \left(\lambda - \sum_{m=1}^k \binom{k}{m} (-1)^{m+1} \left(\frac{\alpha}{\beta}\right)^m \right) \left(1 + \sum_{m=1}^k \binom{k}{m} (-1)^{m+1} \left(\frac{\alpha}{\beta}\right)^m \right) \frac{D_z^{-\lambda} w_{\alpha, \beta}^{k, \eta+1} f(z, \varsigma)}{z} \\
 &+ \left(\lambda - \sum_{m=1}^k \binom{k}{m} (-1)^{m+1} \left(\frac{\alpha}{\beta}\right)^m \right)^2 \frac{D_z^{-\lambda} w_{\alpha, \beta}^{k, \eta} f(z, \varsigma)}{z}
 \end{aligned}$$

Under these circumstances, the strong superordination (2.12) can be expressed as

$$h(z, \varsigma) = q(z, \varsigma) + \gamma zq'_z(z, \varsigma) \ll p(z, \varsigma) + zp'_z(z, \varsigma),$$

generating Lemma 1.2. Therefore, we are obtain the strong superordination $q(z, \varsigma) \ll p(z, \varsigma)$. It follows from (2.8) that

$$q(z, \varsigma) \ll \left(D_z^{-\lambda} w_{\alpha, \beta}^{k, \eta} f(z, \varsigma) \right)'_z$$

and the best subordinant is the convex function $q(z, \varsigma) = \frac{1}{z} \int_0^z h(x, \varsigma) dx$.

Concluding the results of strong differential subordination and superordination, we arrive at the following " strong sandwich results".

Theorem 2.9. Let $q_1(z, \varsigma)$ and $q_2(z, \varsigma)$ be convex functions with $q_1(0, \varsigma) = q_2(0, \varsigma) = 0$, let the functions $h_1(z, \varsigma) = q_1(z, \varsigma) + \lambda zq'_{1z}(z, \varsigma)$ and $h_2(z, \varsigma) = q_2(z, \varsigma) + \lambda zq'_{2z}(z, \varsigma)$, for λ a positive integer, $z \in U, \varsigma \in \bar{U}$. Assume that h_2 satisfies (2.1) and h_1 satisfies (2.10). Let $f \in \mathcal{A}^*_\varsigma$,

$$\frac{D_z^{-\lambda} w_{\alpha, \beta}^{k, \eta} f(z, \varsigma)}{z} \in Q_\varsigma \cap \mathcal{H}^*[0, \lambda, \varsigma]$$

and $\left(D_z^{-\lambda} w_{\alpha, \beta}^{k, \eta} f(z, \varsigma) \right)'_z$ is univalent. If

$$h_1(z, \varsigma) \ll \left(D_z^{-\lambda} w_{\alpha, \beta}^{k, \eta} f(z, \varsigma) \right)'_z \ll h_2(z, \varsigma).$$

Next, that we obtain the strong differential sandwich

$$q_1(z, \varsigma) \ll \frac{D_z^{-\lambda} w_{\alpha, \beta}^{k, \eta} f(z, \varsigma)}{z} \ll q_2(z, \varsigma),$$

and the convex functions $q_1(z, \varsigma) = \frac{1}{z} \int_0^z h_1(x, \varsigma) dx$ and $q_2(z, \varsigma) = \frac{1}{z} \int_0^z h_2(x, \varsigma) dx$ are, respectively, the best subordinant and the most superior.

Theorem 2.10. Let $q_1(z, \varsigma)$ and $q_2(z, \varsigma)$ be convex functions with $q_1(0, \varsigma) = q_2(0, \varsigma) = 0$, let the functions $h_1(z, \varsigma) = q_1(z, \varsigma) + \frac{1}{\mu} zq'_{1z}(z, \varsigma)$ and $h_2(z, \varsigma) = q_2(z, \varsigma) + \frac{1}{\mu} zq'_{2z}(z, \varsigma)$, with μ a positive integer, $z \in U, \varsigma \in \bar{U}$. Assume that h_2 satisfies (2.4) and h_1 satisfies (2.12). Let $f \in \mathcal{A}^*_\varsigma$,

$$\left(\frac{D_z^{-\lambda} w_{\alpha, \beta}^{k, \eta} f(z, \varsigma)}{z} \right)^\mu \in Q_\varsigma \cap \mathcal{H}^*[0, \lambda\mu, \varsigma],$$

and $\left(\frac{D_z^{-\lambda} W_{\alpha,\beta}^{k,\eta} f(z,\varsigma)}{z}\right)^{\mu-1} \left(D_z^{-\lambda} W_{\alpha,\beta}^{k,\eta} f(z,\varsigma)\right)'_z$ is univalent. If

$$h_1(z, \varsigma) \ll \left(\frac{D_z^{-\lambda} W_{\alpha,\beta}^{k,\eta} f(z,\varsigma)}{z}\right)^{\mu-1} \left(D_z^{-\lambda} W_{\alpha,\beta}^{k,\eta} f(z,\varsigma)\right)'_z \ll h_2(z, \varsigma),$$

Subsequently, that we acquire the strong differential sandwich

$$q_1(z, \varsigma) \ll \left(\frac{D_z^{-\lambda} W_{\alpha,\beta}^{k,\eta} f(z,\varsigma)}{z}\right)^{\mu} \ll q_2(z, \varsigma),$$

and the convex functions $q_1(z, \varsigma) = \frac{\mu}{z^\mu} \int_0^z h_1(x, \varsigma) x^{\mu-1} dx$ and $q_2(z, \varsigma) = \frac{\mu}{z^\mu} \int_0^z h_2(x, \varsigma) x^{\mu-1} dx$ are, respectively, the best subordinant and the best dominant.

Theorem 2.11. Let $q_1(z, \varsigma)$ and $q_2(z, \varsigma)$ be convex functions with $q_1(0, \varsigma) = q_2(0, \varsigma) = \frac{1}{1+\lambda}$, let the functions $h_1(z, \varsigma) = q_1(z, \varsigma) + zq_{1z}'(z, \varsigma)$ and $h_2(z, \varsigma) = q_2(z, \varsigma) + zq_{2z}'(z, \varsigma)$, $z \in U, \varsigma \in \bar{U}$. Assume that h_2 satisfies $\zeta 2.6)$ and h_1 satisfies (2.13). Let $f \in \mathcal{A}_\varsigma^*$,

$$\frac{D_z^{-\lambda} W_{\alpha,\beta}^{k,\eta} f(z, \varsigma)}{z \left(D_z^{-\lambda} W_{\alpha,\beta}^{k,\eta} f(z, \varsigma)\right)'_z} \in Q_\varsigma \cap \mathcal{H}^* \left[\frac{1}{1+\lambda}, 1, \varsigma \right],$$

and

$$\frac{\left(1 + \sum_{m=1}^k \binom{k}{m} (-1)^{m+1} \left(\frac{\alpha}{\beta}\right)^m\right)^2 \left(D_z^{-\lambda} W_{\alpha,\beta}^{k,\eta} f(z, \varsigma)\right)^2 - \left(1 + \sum_{m=1}^k \binom{k}{m} (-1)^{m+1} \left(\frac{\alpha}{\beta}\right)^m\right)^2 D_z^{-\lambda} W_{\alpha,\beta}^{k,\eta} f(z, \varsigma) \cdot D_z^{-\lambda} W_{\alpha,\beta}^{k,\eta+2} f(z, \varsigma)}{\left(\left(1 + \sum_{m=1}^k \binom{k}{m} (-1)^{m+1} \left(\frac{\alpha}{\beta}\right)^m\right) D_z^{-\lambda} W_{\alpha,\beta}^{k,\eta+1} f(z, \varsigma) + \left(\lambda - \sum_{m=1}^k \binom{k}{m} (-1)^{m+1} \left(\frac{\alpha}{\beta}\right)^m\right) D_z^{-\lambda} W_{\alpha,\beta}^{k,\eta} f(z, \varsigma)\right)^2}$$

$$\frac{\left(1 + \sum_{m=1}^k \binom{k}{m} (-1)^{m+1} \left(\frac{\alpha}{\beta}\right)^m\right) D_z^{-\lambda} W_{\alpha,\beta}^{k,\eta} f(z, \varsigma) \cdot D_z^{-\lambda} W_{\alpha,\beta}^{k,\eta+1} f(z, \varsigma) - \left(\lambda - \sum_{m=1}^k \binom{k}{m} (-1)^{m+1} \left(\frac{\alpha}{\beta}\right)^m\right) \left(D_z^{-\lambda} W_{\alpha,\beta}^{k,\eta} f(z, \varsigma)\right)^2}{\left(\left(1 + \sum_{m=1}^k \binom{k}{m} (-1)^{m+1} \left(\frac{\alpha}{\beta}\right)^m\right) D_z^{-\lambda} W_{\alpha,\beta}^{k,\eta+1} f(z, \varsigma) + \left(\lambda - \sum_{m=1}^k \binom{k}{m} (-1)^{m+1} \left(\frac{\alpha}{\beta}\right)^m\right) D_z^{-\lambda} W_{\alpha,\beta}^{k,\eta} f(z, \varsigma)\right)^2}$$

is univalent. If

$h_1(z, \varsigma) \ll$

$$\frac{\left(1 + \sum_{m=1}^k \binom{k}{m} (-1)^{m+1} \left(\frac{\alpha}{\beta}\right)^m\right)^2 \left(D_z^{-\lambda} W_{\alpha,\beta}^{k,\eta} f(z, \varsigma)\right)^2 - \left(1 + \sum_{m=1}^k \binom{k}{m} (-1)^{m+1} \left(\frac{\alpha}{\beta}\right)^m\right)^2 D_z^{-\lambda} W_{\alpha,\beta}^{k,\eta} f(z, \varsigma) \cdot D_z^{-\lambda} W_{\alpha,\beta}^{k,\eta+2} f(z, \varsigma)}{\left(\left(1 + \sum_{m=1}^k \binom{k}{m} (-1)^{m+1} \left(\frac{\alpha}{\beta}\right)^m\right) D_z^{-\lambda} W_{\alpha,\beta}^{k,\eta+1} f(z, \varsigma) + \left(\lambda - \sum_{m=1}^k \binom{k}{m} (-1)^{m+1} \left(\frac{\alpha}{\beta}\right)^m\right) D_z^{-\lambda} W_{\alpha,\beta}^{k,\eta} f(z, \varsigma)\right)^2}$$

$$\frac{\left(1 + \sum_{m=1}^k \binom{k}{m} (-1)^{m+1} \left(\frac{\alpha}{\beta}\right)^m\right) D_z^{-\lambda} W_{\alpha,\beta}^{k,\eta} f(z, \varsigma) \cdot D_z^{-\lambda} W_{\alpha,\beta}^{k,\eta+1} f(z, \varsigma) - \left(\lambda - \sum_{m=1}^k \binom{k}{m} (-1)^{m+1} \left(\frac{\alpha}{\beta}\right)^m\right) \left(D_z^{-\lambda} W_{\alpha,\beta}^{k,\eta} f(z, \varsigma)\right)^2}{\left(\left(1 + \sum_{m=1}^k \binom{k}{m} (-1)^{m+1} \left(\frac{\alpha}{\beta}\right)^m\right) D_z^{-\lambda} W_{\alpha,\beta}^{k,\eta+1} f(z, \varsigma) + \left(\lambda - \sum_{m=1}^k \binom{k}{m} (-1)^{m+1} \left(\frac{\alpha}{\beta}\right)^m\right) D_z^{-\lambda} W_{\alpha,\beta}^{k,\eta} f(z, \varsigma)\right)^2} << h_2(z, \varsigma),$$

then we acquire the strong differential sandwich

$$q_1(z, \varsigma) << \frac{D_z^{-\lambda} W_{\alpha,\beta}^{k,\eta} f(z, \varsigma)}{z \left(D_z^{-\lambda} W_{\alpha,\beta}^{k,\eta} f(z, \varsigma)\right)'_z} << q_2(z, \varsigma)$$

and the convex functions $q_1(z, \varsigma) = \frac{1}{z} \int_0^z h_1(x, \varsigma) dx$ and $q_2(z, \varsigma) = \frac{1}{z} \int_0^z h_2(x, \varsigma) dx$ are, respectively, the best subordinant and the best dominant.

Theorem 2.12. Let $q_1(z, \varsigma)$ and $q_2(z, \varsigma)$ be convex functions with $q_1(0, \varsigma) = q_2(0, \varsigma) = 0$, let the functions $h_1(z, \varsigma) = q_1(z, \varsigma) + \lambda z q_1'(z, \varsigma)$ and $h_2(z, \varsigma) = q_2(z, \varsigma) + \lambda z q_2'(z, \varsigma)$, for λ a positive integer, $z \in U, \varsigma \in \bar{U}$. Assume that h_2 satisfies (2.8) and h_1 satisfies (2.15). Let $f \in \mathcal{A}_\zeta^*$,

$$\left(D_z^{-\lambda} W_{\alpha,\beta}^{k,\eta} f(z, \varsigma)\right)'_z \in Q_\zeta \cap \mathcal{H}^*[0, \lambda, \varsigma],$$

and

$$\begin{aligned} &\left(1 + \sum_{m=1}^k \binom{k}{m} (-1)^{m+1} \left(\frac{\alpha}{\beta}\right)^m\right)^2 \frac{D_z^{-\lambda} W_{\alpha,\beta}^{k,\eta+2} f(z, \varsigma)}{z} \\ &+ 2 \left(\lambda - \sum_{m=1}^k \binom{k}{m} (-1)^{m+1} \left(\frac{\alpha}{\beta}\right)^m\right) \left(1 + \sum_{m=1}^k \binom{k}{m} (-1)^{m+1} \left(\frac{\alpha}{\beta}\right)^m\right) \frac{D_z^{-\lambda} W_{\alpha,\beta}^{k,\eta+1} f(z, \varsigma)}{z} \\ &+ \left(\lambda - \sum_{m=1}^k \binom{k}{m} (-1)^{m+1} \left(\frac{\alpha}{\beta}\right)^m\right)^2 \frac{D_z^{-\lambda} W_{\alpha,\beta}^{k,\eta} f(z, \varsigma)}{z} \end{aligned}$$

is univalent. If

$$\begin{aligned} h_1(z, \varsigma) << &\left(1 + \sum_{m=1}^k \binom{k}{m} (-1)^{m+1} \left(\frac{\alpha}{\beta}\right)^m\right)^2 \frac{D_z^{-\lambda} W_{\alpha,\beta}^{k,\eta+2} f(z, \varsigma)}{z} \\ &+ 2 \left(\lambda - \sum_{m=1}^k \binom{k}{m} (-1)^{m+1} \left(\frac{\alpha}{\beta}\right)^m\right) \left(1 + \sum_{m=1}^k \binom{k}{m} (-1)^{m+1} \left(\frac{\alpha}{\beta}\right)^m\right) \frac{D_z^{-\lambda} W_{\alpha,\beta}^{k,\eta+1} f(z, \varsigma)}{z} \\ &+ \left(\lambda - \sum_{m=1}^k \binom{k}{m} (-1)^{m+1} \left(\frac{\alpha}{\beta}\right)^m\right)^2 \frac{D_z^{-\lambda} W_{\alpha,\beta}^{k,\eta} f(z, \varsigma)}{z} << h_1(z, \varsigma), \end{aligned}$$

then we acquire the strong differential sandwich

$$q_1(z, \varsigma) << \left(D_z^{-\lambda} W_{\alpha,\beta}^{k,\eta} f(z, \varsigma)\right)'_z << q_2(z, \varsigma)$$

and the convex functions $q_1(z, \varsigma) = \frac{1}{z} \int_0^z h_1(x, \varsigma) dx$ and $q_2(z, \varsigma) = \frac{1}{z} \int_0^z h_2(x, \varsigma) dx$ are, respectively, with best subordinant and the best dominant.

References

- [1] E. H. Abd and W. G. Atshan, Strong subordination for p -valent functions involving a linear operator, *J. Phys. Conf. Ser.*, 1818 (2021), 012113.
- [2] R. Aghalary and Arjomandinia, On a first order strong differential subordination and application to univalent functions, *Commun. Korean Math. Soc.*, 37(2022), 445-454.
- [3] J. W. Alexander, Functions which map the interior of the unit circle upon simple region, *Annals of Mathematics*, 17(1)(1915), 12-22.
- [4] F. M. Al-Oboudi, On univalent functions defined by a generalized Salagean operator, *Int. J. Math. Math. Sci.*, 27(2004), 1429-1436.
- [5] L. Andrei and M. Choban, Some strong differential subordinations using a differential operator, *Carpathian J. Math.*, 31(2015), 143-156.
- [6] J. A. Antonino and S. Romaguera, Strong differential subordination to Briot-Bouquet differential equations, *J. Differ. Equ.*, 114(1)(1994), 101-105.
- [7] S. D. Bernardi, Convex and starlike univalent functions, *Transactions of the American Mathematical Society*, 135 (1969), 429-446.
- [8] N. E. Cho and H. M. Srivastava, Argument estimates of certain analytic functions defined by a class of multiplier transformations, *Math. Comput. Modeling*, 37(1-2)(2003), 39-49.
- [9] N. E. Cho and M. K. Aouf, Some applications of fractional calculus operators to a certain subclass of analytic functions with negative coefficients, *Turkish J. Math.*, 20(1996), 553-562.
- [10] N. E. Cho, O. S. Kwon and H. M. Srivastava, Strong differential subordination and superordination for multivalently meromorphic functions involving the Liu-Srivastava operator, *Integral Transform. Spec. Funct.*, 21(2010), 589-601.
- [11] M. P. Jeyaraman and T. K. Suresh, Strong differential subordination and superordination of analytic functions, *J. Math. Anal. Appl.*, 368 (2012), 854-864.
- [12] I. B. Jung, Y. C. Kim and H. M. Srivastava, The Hardy space of analytic functions associated with certain one-parameter families of integral operators, *Journal of Mathematical Analysis and Applications*, 176(1993), 138-147.
- [13] A. A. Lupas, On special strong differential subordinations using Salagean and Ruscheweyh operators, *J. Adv. Appl. Comput. Math.*, 1(2014), 28-34.
- [14] A. A. Lupas, On special strong differential subordinations using multiplier transformation, *Appl. Math. Lett.*, 25(2012), 624-630.
- [15] A. A. Lupas and G. I. Oros, Strong differential superordination results involving extended Salagean and Ruscheweyh operators, *Mathematics*, 9(2021), 2487.
- [16] A. A. Lupas, G. I. Oros and Gh. Oros, On special strong differential subordinations using Salagean and Ruscheweyh operators, *J. Comput. Anal. Appl.*, 14(2012), 266-270.
- [17] S. S. Miller and P. T. Mocanu, Differential subordinations and univalent functions, *Michigan Math. J.*, 28(1981), 157-171.
- [18] S. S. Miller and P. T. Mocanu, *Differential Subordinations: Theory and Applications*, Series on Monographs and Textbooks in Pure and Applied Mathematics Vol. 225, Marcel Dekker Inc., New York and Basel, 2000.
- [19] S. S. Miller and P. T. Mocanu, Second order-differential inequalities in the complex plane, *J. Math. Anal. Appl.*, 65(10)(1978), 298-305.
- [20] S. S. Miller and P. T. Mocanu, Subordinates of differential superordinations, *Complex Var. Theory Appl.*, 48(2003), 815-826.
- [21] G. I. Oros and A. O. Taşut, Best subordinants of the strong differential superordination, *Hacet. J. Math. Stat.*, 38(2009), 293-298.
- [22] G. I. Oros, Strong differential superordination, *Acta Univ. Apulensis*, 19(2009), 101-106.
- [23] G. I. Oros and G. Oros, Strong differential subordination, *Turk. J. Math.*, 33(2009), 249-257.
- [24] A. Oshah and M. Darus, Strong differential subordination and superordination of new generalized derivative operator, *Korean J. Math.*, 23(2015), 503-519.
- [25] R. Sendruţiu, Strong differential subordinations obtained by Ruscheweyh operator, *J. Comput. Anal. Appl.*, 14(2012), 328-340.
- [26] G. S. Salagean, Subclasses of univalent functions, *Lecture Notes in Math.*, Springer Verlag, Berlin, 1013(1983), 362-372.
- [27] H. M. Srivastava and A. K. Wanas, Strong differential sandwich results of λ -pseudo-starlike functions with respect to symmetrical points, *Math. Morav.*, 23(2019), 45-58.
- [28] H. M. Srivastava, A. A. Attiya, An integral operator associated with the Hurwitz-Lerch zeta function and differential subordination, *Integral Transforms and Special Functions*, 18(3) (2007), 207-216.
- [29] S. R. Swamy, Inclusion properties of certain subclasses of analytic functions, *Int. Math. Forum*, 7(36)(2012), 1751-1760.
- [30] S. R. Swamy, Some strong differential subordinations using a new generalized multiplier transformation, *Acta Univ. Apulensis*, 34(2013), 285-291.
- [31] A. O. Taşut, Some strong differential subordinations obtained by Salagean differential operator, *Stud. Univ. Babeş-Bolyai Math.*, 55(2010), 221-228.
- [32] B. A. Uralegaddi and C. Somanatha, Certain classes of univalent functions, in *Current Topics in Analytic Function Theory*, (Edited by H. M. Srivastava and S. Own), 371-374, World Scientific, Singapore, 1992.
- [33] A. K. Wanas and A. H. Majeed, New strong differential subordination and superordination of meromorphic multivalent quasi-convex functions, *Kragujev. J. Math.*, 44(2020), 27-39.
- [34] A. K. Wanas and G. Murugusundaramoorthy, Differential sandwich results for Wanas operator of analytic functions, *Mathematica Moravica*, 24(1)(2020), 17-28.
- [35] A. K. Wanas, New differential operator for holomorphic functions, *Earthline Journal of Mathematical Sciences*, 2(2)(2019), 527-537.
- [36] A. K. Wanas, Some subordination results for fractional integral involving Wanas differential operator, *Earthline Journal of Mathematical Sciences*, 3(2)(2020), 199-205.